. Today’s Objectives

m Characterize linear functions from the verbal,
algebraic, graphical, and analytical point of view
orally and in writing using the foursquare model as a
graphic organizer.

= Success Criteria:
= Define polynomials
» Find the equation of a linear function
» Find the average rate of change using function notation
= Define the constant rate of change theorem

= Vocabulary: rate of change
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. Polynomial Functions of No and Low

Degree

Copyright © 2007 Pearson Education, Inc. Publishing as Pearson Addison-Wesley Slide 2- 95



. Characterizing the Nature of a Linear Function

Fill in the following information in your 4-square graphic organizer.

Point of View Characterization
Verbal N polynomial of degree 1

oint Slope Form fo)=m(x-x) + y, (m£0) Igl.(,
Slope Intercept Form ) = mx + b (kl]) < a,P(m
General Form /Sﬁw{m{ e y=C @l‘

M — —2A slant line with slope m and y-intercept b
Analytical .. - function with constant nonzero rate of change
e m: fis increasing if m>0, ing if m<0); initial

value of the function =f{0) = b
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. Average Rate of Change ~ 5\0?6
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- Constant Rate of Change Theorem

on
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. Example Finding an Equation of a Linear

Function
Write an equation for the linear function f such that f(-1) = 2 and f(2) = 3.

foy-f), 38=2. 1 §0)=mlew ),
a2 3 f=3(xx))

LO: The slope of the line is I/\ [ Sf/ over U .
From the given information we know that the line passes

through the poin{s (<], Yand( Z, > ). Therefore
the slope m = . There are three forms for a linear

equation: point-slope, slope intercept, and general form. The

Ed[j}'ﬂ ,% X_ form would be the best choice here
because | have a point that is not the ___\ E/ m;{mfg@t and |

can calculate the slope with the slope formula.
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. Example Finding an Equation of a Linear

Function

Write an equation for the linear function f such that f(-1) = 2 and f(2) = 3.
The line contains the points (-1,2) and (2,3). Find the slope:

Use the point-slope formula and the point (2,3):
y-y =m(x-x)

y—3=§(x-2)

1 2
Bl 2
LA

L.
¥ 3""3

f(x)=§x+%
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‘: Write eqns parallel/perp to lines through a point

1. Write the slope-intercept form of the equation of the line passing through the point (— 6, — 3)
and parallel to the line y = 3x+3
N —

[A] y==3x-15 [B] p= -—1— =5 [C] »=3x+3 [D] none of these
3 (3
LO: The slope of the new line is ____ because parallel lines have
From the given information we know
that the line passes through the point ( y ). There are
three forms for a linear equation: , Slope
intercept, and form. The
form would be the best choice here because | have a
and the . | will need to use algebra to rewrite the
equation, because the answers are given in

form.
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. AM: Write eqns parallel/perp to lines

through a point

2. Wnte the_standard form of the equation of the line passing through the point (2, 2) and
perp &mﬁ =5x-y=-4

“_‘-‘Sy_°8 [B] -5x-y=8 —-Sx+y=-8 [D] none of these
@: Hxu=-4 (')—’L) i m

thye T K

Z
f‘ovL ot Z
g“'ﬁWI 3

z

m==D _|.m ’Jf‘“






. AM: Write eqns parallel/perp to lines

through a point

3. Whte the slope-intercept form of the equation of the line passing through the point (—- 1 5) ar.
parallel to the lime y =6x—2.

M=l (’[16)

LO: The slope of the new line is _____ because parallel lines have
From the given information we know

that the line passes through the point ( y ). There are

three forms for a linear equation: , Slope

intercept, and form. The

form would be the best choice here because | have a

and the . | will need to use algebra to rewrite the

equation, because the answers are given in

form.
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. AM: Write eqns parallel/perp to lines

through a point

4. ‘Write the standard form of the equation of the line that passes through the pomt (4, 1) and is
perpendicular to the line x—3y=-6

LO: The slope of the new lineis __ because perpendicular lines
have . From the given information we
know that the new line passes through the point ( : ).
There are three forms for a linear equation: :

, and form. The

form would be the best choice here because |
have a and the . | will need to use
algebra to rewrite the equation, because the answers are given in

form.
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